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Measurements
Measurements Value
mean signal (mean) 1506.7
Signal to Noise Ratio (SNR) 2413
Signal to Fluctuation Ratio (SFNR) 2479
Percent Fluctuation 0.06
Drift 0.46
Radius of Decorrelation {(RDC) 1B
Mean Ghost Percentage 2.600
Standard Deviation (std) 0.90
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Smoothness - X
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Smoothrness CFHHMY in mm - ¥& [min mean max] = [2.397 £2.453 2.51@1]

in mm

Smoothhness FHHM2

za 48 =15 28 1aa F=3s] 14@ 16@ 13nm Zad

Timepoint



in mm

Smoothness FHHM2

ivn mm

Center of Mass

Smoothness - Z
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Gho=%t mean percentage

Ghost

Mean of ghost voxels as ¥ of non—-ghost [masked] mean
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Mean Image
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